
UNITED 
STATES

Lineabox



Lineabox - Metal drawer

Clean, simple lines with minimal wall thickness to maximize internal space. Streamlined aesthetics uncluttered with 
holes or assembly components. Assembly is rapid without the need for machines or templates. 
Fluid, silent and progressive sliding movement, thanks to full-extension runners. 
Lineabox can be used with Futura and F70 full-extension runners.

2



Index

2-Sided Drawer - Double Notched	 page 5

4-Sided Internal Drawer - Pull-Out Drawer	 page 17	

Under-Sink - 2-Sided Drawer - Double Notched	 page 31

	 Part numbers and packaging	 page 6	

	 Metal side - H 75 mm	 page 8

	 Metal side - H 101 mm	 page 10

	 Metal side - H 178 mm	 page 12

	 Metal side - H 237 mm	 page 14

Part numbers and packaging	 page 46

Assembly Features		  page 37

3-Meter Profile to be Cut		  page 45

Accessories		  page 49

Finishes		  page 51

	 Metal side - H 101 mm	 page 32	

	 Metal side - H 178 mm	 page 34

	

	

	

	 Part numbers and packaging	 page 18

	 Internal drawer for Lineabox side H 75 mm	 page 20

	 Internal drawer for Lineabox side H 101 mm	 page 22

	 Internal drawer with gallery rail for Lineabox side H 178 mm	 page 24

	 Internal drawer with insert for Lineabox side H 101 mm	 page 26

	 Internal drawer with insert for Lineabox side H 178 mm	 page 28

3



4



2-Sided Drawer - Double Notched

5



Side profiles cut to length - Double Notched

2-Sided Drawer - Part numbers and packaging

R
u
nn

e
r 

le
ng

th

SIDE PROFILE H 75 mm WHITE GRAY STAINLESS BOX PALLET

FUTURA F70 STEEL
Runner length 229 mm AMUBXD10229GP AMUBXDG0229GP AMUBXDS0229GP 12 pcs. 360 pcs.

Runner length 305 mm AMUBXD10305GP AMUBXDG0305GP AMUBXDS0305GP 12 pcs. 360 pcs.

Runner length 381 mm Runner length 381 mm AMUBXD10381GP AMUBXDG0381GP AMUBXDS0381GP 12 pcs. 240 pcs.

Runner length 457 mm Runner length 457 mm AMUBXD10457GP AMUBXDG0457GP AMUBXDS0457GP 12 pcs. 240 pcs.

Runner length 533 mm Runner length 533 mm AMUBXD10533GP AMUBXDG0533GP AMUBXDS0533GP 12 pcs. 180 pcs.

Runner length 610 mm AMUBXD10610GP AMUBXDG0610GP AMUBXDS0610GP 12 pcs. 120 pcs.

Runner length 686 mm AMUBXD10686GP AMUBXDG0686GP AMUBXDS0686GP 12 pcs. 120 pcs.

Runner length 762 mm AMUBXD10762GP AMUBXDG0762GP AMUBXDS0762GP 12 pcs. 120 pcs.

SIDE PROFILE H 101 mm WHITE GRAY STAINLESS BOX PALLET

FUTURA F70 STEEL
Runner length 229 mm AMUMXD10229GP AMUMXDG0229GP AMUMXDS0229GP 12 pcs. 360 pcs.

Runner length 305 mm AMUMXD10305GP AMUMXDG0305GP AMUMXDS0305GP 12 pcs. 360 pcs.

Runner length 381 mm Runner length 381 mm AMUMXD10381GP AMUMXDG0381GP AMUMXDS0381GP 12 pcs. 240 pcs.

Runner length 457 mm Runner length 457 mm AMUMXD10457GP AMUMXDG0457GP AMUMXDS0457GP 12 pcs. 240 pcs.

Runner length 533 mm Runner length 533 mm AMUMXD10533GP AMUMXDG0533GP AMUMXDS0533GP 12 pcs. 180 pcs.

Runner length 610 mm AMUMXD10610GP AMUMXDG0610GP AMUMXDS0610GP 12 pcs. 120 pcs.

Runner length 686 mm AMUMXD10686GP AMUMXDG0686GP AMUMXDS0686GP 12 pcs. 120 pcs.

Runner length 762 mm AMUMXD10762GP AMUMXDG0762GP AMUMXDS0762GP 12 pcs. 120 pcs.

SIDE PROFILE H 178 mm WHITE GRAY STAINLESS BOX PALLET

FUTURA F70 STEEL
Runner length 229 mm AMUAXD10229GP AMUAXDG0229GP AMUAXDS0229GP 12 pcs. 216 pcs.

Runner length 305 mm AMUAXD10305GP AMUAXDG0305GP AMUAXDS0305GP 12 pcs. 216 pcs.

Runner length 381 mm Runner length 381 mm AMUAXD10381GP AMUAXDG0381GP AMUAXDS0381GP 12 pcs. 144 pcs.

Runner length 457 mm Runner length 457 mm AMUAXD10457GP AMUAXDG0457GP AMUAXDS0457GP 12 pcs. 144 pcs.

Runner length 533 mm Runner length 533 mm AMUAXD10533GP AMUAXDG0533GP AMUAXDS0533GP 12 pcs. 108 pcs.

Runner length 610 mm AMUAXD10610GP AMUAXDG0610GP AMUAXDS0610GP 12 pcs. 72 pcs.

Runner length 686 mm AMUAXD10686GP AMUAXDG0686GP AMUAXDS0686GP 12 pcs. 72 pcs.

Runner length 762 mm AMUAXD10762GP AMUAXDG0762GP AMUAXDS0762GP 12 pcs. 72 pcs.

6



COMPONENTS PART NUMBER BOX PALLET

ASMGP12A3XA 200 pcs. 8000 pcs.

ASMGP12A3CA 200 pcs. 8000 pcs.

FIXING CLIP FOR 
WOOD FRONT AND BACK

Screw attachment.
Screws ø 3.5 x 20 mm included.
Can use #6 x 3/4” screws 
as a replacement.

FIXING CLIP FOR 
WOOD FRONT AND BACK
  
5 mm dowel attachment.
Must be knocked in with 
TLLNCLPHLDR Salice tool, 
see accessories, page 50.  

ø 5x12 ø 2x2

ø 5x12 ø 2x2

SIDE PROFILE H 237 mm WHITE GRAY STAINLESS BOX PALLET

FUTURA F70 STEEL
Runner length 229 mm AMUHXD10229GP AMUHXDG0229GP AMUHXDS0229GP 12 pcs. 216 pcs.

Runner length 305 mm AMUHXD10305GP AMUHXDG0305GP AMUHXDS0305GP 12 pcs. 216 pcs.

Runner length 381 mm Runner length 381 mm AMUHXD10381GP AMUHXDG0381GP AMUHXDS0381GP 12 pcs. 144 pcs.

Runner length 457 mm Runner length 457 mm AMUHXD10457GP AMUHXDG0457GP AMUHXDS0457GP 12 pcs. 144 pcs.

Runner length 533 mm Runner length 533 mm AMUHXD10533GP AMUHXDG0533GP AMUHXDS0533GP 12 pcs. 108 pcs.

Runner length 610 mm AMUHXD10610GP AMUHXDG0610GP AMUHXDS0610GP 12 pcs. 72 pcs.

Runner length 686 mm AMUHXD10686GP AMUHXDG0686GP AMUHXDS0686GP 12 pcs. 72 pcs.

Runner length 762 mm AMUHXD10762GP AMUHXDG0762GP AMUHXDS0762GP 12 pcs. 72 pcs.

Part numbers and packaging

7



Cutting the width for the sub-front and the back

X = Internal Width

Cutting the length and width for the bottom

2-Sided Drawer - H 75 mm
Lineabox metal sides, wood sub-front and back panel.
Height of the side 75 mm - Internal height 46 mm.
For use with Futura and F70 full-extension runners.

- No machine or template needed for assembly
- Rapid assembly and disassembly of the drawer
- Height, side and depth adjustment of the drawer incorporated in the 		
	 runner fixing clips
- Wood thickness: 16 mm (5/8”) for bottom, sub-front and back panels
- Sides notched front and back
- Premounted front/back connector fittings
-	Non-handed sides
- Material: Aluminum
- Finishes: - White
			   - Gray
			   - Stainless steel

Dimensions with full-extension runners Dimensions of        
the metal side

6
2

7
5

16

1
3

1
6

4
6

3
8

1
2

2
6

2
8
.5

2
9 4

1

9
3

1
2

3
1
.5

9
0

910

X

(X - 22) ± 1 mm = Futura

(X - 23) ± 1 mm = F70
(X - 22) ± 1 mm = Futura

(X - 23) ± 1 mm = F70
Bottom length = 

Runner length - 32 mm (1-17/64”)

F70 RUNNERS FUTURA RUNNERS

8



1

2

3

1
8

7
4

2
4

6
1

6.5

6.5

4
2

8
1

Technical features 
SUB-FRONT - Finished height & drilling dimensions

BACK - Finished height & drilling dimensions

1 Front/back fixing clip ASMGP12A3XA - screw attachment  OR  2 Front/back fixing clip ASMGP12A3CA - 5 mm dowel attachment   Nr. 4 pcs.

3 Cover cap (With embossed Salice logo ASCCX83H9SN - With silk-screen printed Salice logo ASCXX83H9SN)   Nr. 2 pcs. (optional)

Components of the drawer

SUB-FRONT 

SUB-FRONT 

BACK

INSIDE BACK

Note: Rear hook hole dimensions based on drilling with Salice drilling template A199800755010 with Futura runners or ASGD704UGXA with 
F70 runners (see accessories, page 50).        

Note: Customer to supply and attach 
finished front. 

1
1

17

1
1

17

OUTSIDE BACK

DRILL BIT 
Futura:
ø 7x10 mm (9/32”) 
F70:
ø 6x10 mm (1/4”) 

DRILLING TEMPLATE
Futura: A199800755010
F70: ASGD704UGXA 

9



Lineabox metal sides, wood sub-front and back panel.
Height of the side 101 mm - Internal height 72 mm.
For use with Futura and F70 full-extension runners.

- No machine or template needed for assembly
- Rapid assembly and disassembly of the drawer
- Height, side and depth adjustment of the drawer incorporated in the 		
	 runner fixing clips
- Wood thickness: 16 mm (5/8”) for bottom, sub-front and back panels
- Sides notched front and back
- Premounted front/back connector fittings
-	Non-handed sides
- Material: Aluminum
- Finishes: - White
			   - Gray
			   - Stainless steel

2-Sided Drawer - H 101 mm

Dimensions of 
the metal side

Dimensions with full-extension runners

Cutting the width for the sub-front and the back Cutting the length and width for the bottom

X = Internal Width

16

7
2

10

8
8

1
0

1

1
3

1
6

4
6

2
6

3
8

1
2

2
6

2
8
.5

1
1
6

2
9 4

1
1
1
9

1
2

3
1
.5

910

X

F70 RUNNERS FUTURA RUNNERS

Bottom length = 

Runner length - 32 mm (1-17/64”)
(X - 22) ± 1 mm = Futura

(X - 23) ± 1 mm = F70
(X - 22) ± 1 mm = Futura

(X - 23) ± 1 mm = F70

10



4
4

1
0
0

2
4

8
7

4
2

4
4

6.5

6.5

1
1

17

1
1

17

Technical features

Components of the drawer

SUB-FRONT 

1 Front/back fixing clip ASMGP12A3XA - screw attachment  OR  2 Front/back fixing clip ASMGP12A3CA - 5 mm dowel attachment   Nr. 4 pcs.

3 Cover cap (With embossed Salice logo ASCCX83H9SN - With silk-screen printed Salice logo ASCXX83H9SN)   Nr. 2 pcs. (optional)

SUB-FRONT - Finished height & drilling dimensions

BACK - Finished height & drilling dimensions

SUB-FRONT 

INSIDE BACK

BACK

Note: Rear hook hole dimensions based on drilling with Salice drilling template A199800755010 with Futura runners or ASGD704UGXA with 
F70 runners (see accessories, page 50).        

Note: Customer to supply and attach 
finished front. 

OUTSIDE BACK

1

2

3

DRILL BIT 
Futura:
ø 7x10 mm (9/32”) 
F70:
ø 6x10 mm (1/4”) 

DRILLING TEMPLATE
Futura: A199800755010
F70: ASGD704UGXA 

11



Lineabox metal sides, wood sub-front and back panel.
Height of the side 178 mm - Internal height 149 mm.
For use with Futura and F70 full-extension runners.

- No machine or template needed for assembly
- Rapid assembly and disassembly of the drawer
- Height, side and depth adjustment of the drawer incorporated in the 		
	 runner fixing clips
- Wood thickness: 16 mm (5/8”) for bottom, sub-front and back panels
- Sides notched front and back
- Premounted front/back connector fittings
-	Non-handed sides
- Material: Aluminum
- Finishes: - White
			   - Gray
			   - Stainless steel

2-Sided Drawer - H 178 mm

Dimensions of 
the metal side

Dimensions with full-extension runners

Cutting the width for the sub-front and the back Cutting the length and width for the bottom

X = Internal Width

16

1
4

9

10

1
7

8 1
6

5
1

3

1
6

9
0

5
9

3
8

1
2

2
6

2
8

.5

1
9

3

2
9 4

1

1
9

6

1
2

3
1

.5

910

X

F70 RUNNERS FUTURA RUNNERS

Bottom length = 

Runner length - 32 mm (1-17/64”)
(X - 22) ± 1 mm = Futura

(X - 23) ± 1 mm = F70
(X - 22) ± 1 mm = Futura

(X - 23) ± 1 mm = F70

12



6.5

1
6
4

2
4

7
6
.5

2
4

2
0
.2

6.5

2
4

7
6
.5

2
4

2
0
.2

1
7
7

Technical features 

Components of the drawer

SUB-FRONT 

1 Front/back fixing clip ASMGP12A3XA - screw attachment  OR  2 Front/back fixing clip ASMGP12A3CA - 5 mm dowel attachment   Nr. 8 pcs.

3 Cover cap (With embossed Salice logo ASCCX83H9SN - With silk-screen printed Salice logo ASCXX83H9SN)   Nr. 2 pcs. (optional)

SUB-FRONT - Finished height & drilling dimensions

BACK - Finished height & drilling dimensions

SUB-FRONT 

BACK

Note: Rear hook hole dimensions based on drilling with Salice drilling template A199800755010 with Futura runners or ASGD704UGXA with 
F70 runners (see accessories, page 50).        

INSIDE BACK

1
1

17

1
1

17

OUTSIDE BACK

INSIDE BACK

Note: Customer to supply and attach 
finished front. 

1

2

3

DRILL BIT 
Futura:
ø 7x10 mm (9/32”) 
F70:
ø 6x10 mm (1/4”) 

DRILLING TEMPLATE
Futura: A199800755010
F70: ASGD704UGXA 

13



Cutting the width for the sub-front and the back

Lineabox metal sides, wood front and back panel.
Height of the side 237 mm - Internal height 208 mm.
For use with Futura and F70 full-extension runners.

- No machine or template needed for assembly
- Rapid assembly and disassembly of the drawer
- Height, side and depth adjustment of the drawer incorporated in the 		
	 runner fixing clips
- Wood thickness: 16 mm (5/8”) for bottom, front and back panels
- Sides notched front and back
- Premounted front/back connector fittings
-	Non-handed sides
- Material: Aluminum
- Finishes: - White
			   - Gray
			   - Stainless steel

2-Sided Drawer - H 237 mm

Dimensions of 
the metal side

Dimensions with full-extension runners

Cutting the length and width for the bottom

X = Internal Width

16
2
0
8

7
3

1
3
5

10

2
2
4

1
3

2
3
7

1
6

3
8

1
2

2
6

2
8

.5

2
9 4

1
1

2

3
1

.5

2
5

5

2
5

2

910

X

F70 RUNNERS FUTURA RUNNERS

Bottom length = 

Runner length - 32 mm (1-17/64”)
(X - 22) ± 1 mm = Futura

(X - 23) ± 1 mm = F70
(X - 22) ± 1 mm = Futura

(X - 23) ± 1 mm = F70

14



6.5

2
4

2
4

9
1
.5

2
4

20.2

20.2

20.2

20.2

2
3
6

6.5

2
4

2
4

9
1
.5

2
4

2
2
3

SUB-FRONT 

Technical features 

Components of the drawer

1 Front/back fixing clip ASMGP12A3XA - screw attachment  OR  2 Front/back fixing clip ASMGP12A3CA - 5 mm dowel attachment   Nr. 12 pcs.

3 Cover cap (With embossed Salice logo ASCCX83H9SN - With silk-screen printed Salice logo ASCXX83H9SN)   Nr. 2 pcs. (optional)	

SUB-FRONT - Finished height & drilling dimensions

BACK - Finished height & drilling dimensions

SUB-FRONT 

INSIDE BACK

BACK

Note: Rear hook hole dimensions based on drilling with Salice drilling template A199800755010 with Futura runners or ASGD704UGXA with 
F70 runners (see accessories, page 50).        

1
1

17

1
1

17

OUTSIDE BACK

Note: Customer to supply and attach 
finished front. 

1

2

3

DRILL BIT 
Futura:
ø 7x10 mm (9/32”) 
F70:
ø 6x10 mm (1/4”) 

DRILLING TEMPLATE
Futura: A199800755010
F70: ASGD704UGXA 

15



16



4-Sided Internal Drawer - Pull-Out Drawer

17



4-Sided Internal Drawer - Part numbers and packaging

10
0

88

12
6

2
0

3

2
0

10
0

88

12
6

2
0

3

2
0

10
0

88

12
6

2
0

3

2
0

10
0

88

12
6

2
0

3

2
0

10
0

88

12
6

2
0

3

2
0

10
0

88

12
6

2
0
3

2
0

10
0

88

12
6

2
0

3

2
0

HEIGHT LINEABOX SIDE FRONT PANEL ADAPTERS 
AND COVERS RIGHT/LEFT FRONT PANEL

 H 75 mm

H 101 mm

H 178 mm

PART NUMBER FINISH BOX 

AMABPU1F WHITE 3 pairs

AMABPUGF GRAY 3 pairs

AMABPUSF STAINLESS 
STEEL 3 pairs

PART NUMBER FINISH BOX 

AMAMPU1F WHITE 3 pairs

AMAMPUGF GRAY 3 pairs

AMAMPUSF STAINLESS 
STEEL 3 pairs

PART NUMBER FINISH BOX 

AMAAPU1F WHITE 3 pairs

AMAAPUGF GRAY 3 pairs

AMAAPUSF STAINLESS 
STEEL 3 pairs

PART NUMBER FINISH BOX 

AMFLP411062F WHITE 6 pcs.

AMFLP4G1062F GRAY 6 pcs.

AMFLP4S1062F STAINLESS 
STEEL 6 pcs.

PART NUMBER FINISH BOX 

AMFLP411062F WHITE 6 pcs.

AMFLP4G1062F GRAY 6 pcs.

AMFLP4S1062F STAINLESS 
STEEL 6 pcs.

PART NUMBER FINISH BOX 

AMFLP411062F WHITE 6 pcs.

AMFLP4G1062F GRAY 6 pcs.

AMFLP4S1062F STAINLESS 
STEEL 6 pcs.

PART NUMBER FINISH BOX 

AMBFP411062F WHITE 6 pcs.

AMBFP4G1062F GRAY 6 pcs.

AMBFP4S1062F STAINLESS 
STEEL 6 pcs.

18



4-Sided Internal Drawer - With 8 mm thick insert - Part numbers and packaging

10
0

88

12
6

2
0

3

2
0

6
5

1
2
6

2
0

3

6
5

1
2
6

2
0

3

6
5

1
2

6
2

0
3

HEIGHT LINEABOX SIDE FRONT PANEL ADAPTERS AND 
COVERS RIGHT/LEFT FRONT PANEL

H 101 mm

H 178 mm

Gasket included.

Inserts not included. 

Gasket included.

Inserts not included. 

PART NUMBER FINISH BOX 

AMAMVU1F WHITE 3 pairs

AMAMVUGF GRAY 3 pairs

AMAMVUSF STAINLESS 
STEEL 3 pairs

PART NUMBER FINISH BOX 

AMAAVU1F WHITE 3 pairs

AMAAVUGF GRAY 3 pairs

AMAAVUSF STAINLESS 
STEEL 3 pairs

PART NUMBER FINISH BOX 

AMFLV411062F WHITE 6 pcs.

AMFLV4G1062F GRAY 6 pcs.

AMFLV4S1062F STAINLESS 
STEEL 6 pcs.

PART NUMBER FINISH BOX 

AMFLV411062F WHITE 6 pcs.

AMFLV4G1062F GRAY 6 pcs.

AMFLV4S1062F STAINLESS 
STEEL 6 pcs.

19



L = (X - 120) ± 1 mm = Futura

L = (X - 121) ± 1 mm = F70

4-Sided Internal Drawer - H 75 mm
Height of Lineabox side 75 mm
Max. height of front panel 100 mm
For use with Futura and F70 full-extension runners

- Rapid assembly system, with no machinery or templates needed
- Rapid mounting and removal of front panel
- Can be personalized according to the width of the cabinet
- Height, sideways and depth adjustment of the drawer incorporated 
	 in the runner fixing clips
- Material:	 - aluminum for Lineabox sides and front panel
				    - plastic for front panel adapters
				    - metal for covers
- Finishes:	 - White
			   - Gray
			   - Stainless steel			 

Assembly features

X = Internal Width

Note: aluminum to be cut with metal cutting blade
Screws ø 3.5 x 20 mm included. Can use #6 x 3/4” screws as a replacement

Cutting of the horizontal profile

3
1

4
2

Insert the front panel adapters into the front panel and tighten the locking screws. Frontal fixings are already premounted.

20



Fix the front panel to the drawer

Fix the covers

To correct possible cutting errors of the front profile, loosen and retighten the indicated screws 

2

2

1

1

1

1

2

3
3

2
2

2
2

3
2
2

1
2

6
2
0
3

1
0
0

2 2

1 1

21



L = (X - 120) ± 1 mm = Futura

L = (X - 121) ± 1 mm = F70

Height of Lineabox side 101 mm
Max. height of front panel 126 mm
For use with Futura and F70 full-extension runners

- Rapid assembly system, with no machinery or templates needed
- Rapid mounting and removal of front panel
- Can be personalized according to the width of the cabinet
- Height, sideways and depth adjustment of the drawer incorporated 
	 in the runner fixing clips
- Material:	 - aluminum for Lineabox sides and front panel
				    - plastic for front panel adapters
				    - metal for covers
- Finishes:	 - White
			   - Gray
			   - Stainless steel			 

4-Sided Internal Drawer - H 101 mm

Assembly features

Cutting of the horizontal profile

4
2

3
1

Insert the front panel adapters into the front panel and tighten the locking screws. Frontal fixings are already premounted.

X = Internal Width

Note: aluminum to be cut with metal cutting blade
Screws ø 3.5 x 20 mm included. Can use #6 x 3/4” screws as a replacement

22



To correct possible cutting errors of the front profile, loosen and retighten the indicated screws 

1

2

2

21

1

3
3

2
2

2
2

3
2
2

1
2
6

2
0

3

1
0
0

Fix the front panel to the drawer

Fix the covers

1

1 1

2 2

23



4-Sided Internal Drawer with gallery rail - H 178 mm
Height of Lineabox side 178 mm
Max. height of front panel 203 mm
For use with Futura and F70 full-extension runners

- Rapid assembly system, with no machinery or templates needed
- Rapid mounting and removal of front panel
- Can be personalized according to the width of the cabinet
- Height, sideways and depth adjustment of the drawer incorporated 
	 in the runner fixing clips
- Material:	 - aluminum for Lineabox sides, front panel and railing
			   - plastic for front panel adapters
			   - metal for covers
- Finishes:	 - White
			   - Gray
			   - Stainless steel	 			 

Assembly features

Cut the profile and the gallery rail to length

L = (X - 120) ± 1 mm = Futura

L = (X - 121) ± 1 mm = F70

X = Internal Width

Note: aluminum to be cut with metal cutting blade
Screws ø 3.5 x 20 mm included. Can use #6 x 3/4” screws as a replacement

1

2

3

4
5

Insert the front panel adapters into the front panel and the railing and tighten the locking screws.
Frontal fixings are already premounted.

24



1

1

2

2

2

1

1

3
3

2
2

2
2

3
2
2

1
2
6

2
0
3

1
0
0

Fix the front panel to the drawer

Fix the covers

To correct any possible cutting errors of the panel, loosen and retighten the indicated screws

1 1

2 2

25



Height of Lineabox side 101 mm
Max. height of front panel 126 mm
For use with Futura and F70 full-extension runners

- Rapid assembly system, with no machinery or templates needed
- Rapid mounting and removal of front panel
- Can be personalized according to the width of the cabinet
- Height, sideways and depth adjustment of the drawer incorporated 
	 in the runner fixing clips
- Material:	 - aluminum for Lineabox sides and front panel 
			   - plastic for front panel adapters
			   - metal for covers
- Finishes:	 - White
			   - Gray
			   - Stainless steel
			 

4-Sided Internal Drawer with insert  - H 101 mm

Assembly features

Screws ø 3.5 x 20 mm included. Can use #6 x 3/4” screws as a replacement

61

8

6
5

1
2
6

L = (X - 120) ± 1 mm = Futura

L = (X - 121) ± 1 mm = F70

L = (X - 120) ± 1 mm = Futura

L = (X - 121) ± 1 mm = F70

1

2

3

4
5

Cut the front panel and the insert to length

X = Internal width of the cabinet

Insert the front panel adapters into the front panel and tighten the locking screws. Frontal fixings are already premounted.

Note: aluminum to be cut with metal cutting blade

26



Attach the front to the drawer

To correct possible cutting errors of the front profile, loosen and retighten the indicated screws 

1

1

2

2

2
1

1

3
3

2
2

2
2

3
2
2

1
2
6

2
0

3

1
0
0

Fix the covers

1 1

2 2

27



4-Sided Internal Drawer with insert - H 178 mm
Height of Lineabox side 178 mm
Max. height of front panel 203 mm
For use with Futura and F70 full-extension runners

- Rapid assembly system, with no machinery or templates needed
- Rapid mounting and removal of front panel
- Can be personalized according to the width of the cabinet
- Height, sideways and depth adjustment of the drawer incorporated 
	 in the runner fixing clips
- Material:	 - aluminum for Lineabox sides and front panel 
			   - plastic for front panel adapters
			   - metal for covers
- Finishes:	 - White
			   - Gray
			   - Stainless steel
			 

Assembly features

Screws ø 3.5 x 20 mm included. Can use #6 x 3/4” screws as a replacement.

138

8

6
5

2
0

3

L = (X - 120) ± 1 mm = Futura

L = (X - 121) ± 1 mm = F70

L = (X - 120) ± 1 mm = Futura

L = (X - 121) ± 1 mm = F70

3

4

1

2

5

Cut the front panel and the insert to length

X = Internal width of the cabinet

Insert the front panel adapters into the front panel and tighten the locking screws. Frontal fixings are already premounted.

Note: aluminum to be cut with metal cutting blade

28



1

1

2

2

2 2

2

1

1 1

1

3
3

2
2

2
2

3
2
2

1
2
6

2
0
3

1
0
0

To correct any possible cutting errors of the panel, loosen and retighten the indicated screws

Fix the covers

Fix the front panel to the drawer

29



30



Under-Sink
2-Sided Drawer - Double Notched

31



Cutting the sub-front and back Cutting the bottom

Lineabox metal sides, wood sub-front and back panel.
Height of the side 101 mm - Internal height 72 mm.
For use with Futura and F70 full-extension runners.
Drawers can be custom widths to fit most kitchen and bathroom 
sink and plumbing configurations.

- No machine or template needed for assembly
- Rapid assembly and disassembly of the drawer
- Height, side and depth adjustment of the drawer incorporated in the 		
	 runner fixing clips
- Bottom thickness: 16 mm (5/8”) for bottom, sub-front and back panels
- Sides notched front and back
- Premounted front/back connector fittings 
-	Non-handed sides
- Sides: 90° cut end
- Material: Aluminum
- Finishes: - White
			   - Gray
			   - Stainless steel

Under-Sink - 2-Sided Drawer - H 101 mm

Thickness of 
the metal side

Dimensions with full-extension runners

Bottom length = 

Runner length - 32 mm (1-17/64”)

Bottom length = 

Runner length - 32 mm (1-17/64”)

X = Internal Width
SW = Sink Width

16

7
2

10

8
8

1
0

1

1
3

1
6

4
6

2
6

X - SW
2

- 13

X - SW
2

- 13

X - SW
2

- 13

X - SW
2

- 13

X - SW
2

- 13

X - SW
2

- 13

3
8

1
2

2
6

2
8

.5

1
1

6

2
9 4

1

1
2

3
1

.5

1
1

9

10 9

X

SW

F70 
RUNNERS

FUTURA 
RUNNERS

32



4
4

1
0
0

2
4

8
7

4
2

4
4

6.5

6.5

Technical features 

Components of the drawer

1 Front/back fixing clip ASMGP12A3XA - screw attachment  OR  2 Front/back fixing clip ASMGP12A3CA - 5 mm dowel attachment   Nr. 8 pcs.

3 Cover cap (With embossed Salice logo ASCCX83H9SN - With silk-screen printed Salice logo ASCXX83H9SN)   Nr. 2 pcs. (optional)

SUB-FRONT 

SUB-FRONT 

SUB-FRONT SUB-FRONT 

SUB-FRONT - Finished height & drilling dimensions

BACK - Finished height & drilling dimensions

INSIDE BACKINSIDE BACK

BACK

BACK

Note: Rear hook hole dimensions based on drilling with Salice drilling template A199800755010 with Futura runners or ASGD704UGXA with 
F70 runners (see accessories, page 50).        

Note: Customer to supply and attach 
finished front. 

1
1

17

1
1

17

OUTSIDE BACK

1

2

3

DRILL BIT 
Futura:
ø 7x10 mm (9/32”) 
F70:
ø 6x10 mm (1/4”) 

DRILLING TEMPLATE
Futura: A199800755010
F70: ASGD704UGXA 

33



Lineabox metal sides, wood sub-front and back panel.
Height of the side 178 mm - Internal height 149 mm.
For use with Futura and F70 full-extension runners.
Drawers can be custom widths to fit most kitchen and bathroom 
sink and plumbing configurations.

- No machine or template needed for assembly
- Rapid assembly and disassembly of the drawer
- Height, side and depth adjustment of the drawer incorporated in the 		
	 runner fixing clips
- Bottom thickness: 16 mm (5/8”) for bottom, sub-front and back panels
- Sides notched front and back
- Premounted front/back connector fittings 
-	Non-handed sides
- Sides: 90° cut end
- Material: Aluminum
- Finishes: - White
			   - Gray
			   - Stainless steel

Under-Sink - 2-Sided Drawer - H 178 mm

Thickness of 
the metal side

Dimensions with full-extension runners

Bottom length = 

Runner length - 32 mm (1-17/64”)

Bottom length = 

Runner length - 32 mm (1-17/64”)

Cutting the sub-front and back Cutting the bottom

X = Internal Width
SW = Sink Width

16

1
4

9

10

1
7

8 1
6

5
1

3

1
6

9
0

5
9

X - SW
2

- 13

X - SW
2

- 13

X - SW
2

- 13

X - SW
2

- 13

X - SW
2

- 13

X - SW
2

- 13

3
8

1
2

2
6

2
8
.5

1
9
3

2
9 4

1

1
2

3
1
.5

1
9
6

10 9

X

SW

F70 
RUNNERS

FUTURA 
RUNNERS

34



6.5

6.5

2
4

7
6
.5

2
4

2
0
.2

1
7
7

1
6
4

2
4

7
6
.5

2
4

2
0
.2

Technical features 

Components of the drawer

1 Front/back fixing clip ASMGP12A3XA - screw attachment  OR  2 Front/back fixing clip ASMGP12A3CA - 5 mm dowel attachment   Nr. 16 pcs.

3 Cover cap (With embossed Salice logo ASCCX83H9SN - With silk-screen printed Salice logo ASCXX83H9SN)   Nr. 2 pcs. (optional)

SUB-FRONT 

SUB-FRONT 

SUB-FRONT SUB-FRONT 

BACK - Finished height & drilling dimensions

INSIDE BACKINSIDE BACK

SUB-FRONT - Finished height & drilling dimensions

Note: Rear hook hole dimensions based on drilling with Salice drilling template A199800755010 with Futura runners or ASGD704UGXA with 
F70 runners (see accessories, page 50).        

Note: Customer to supply and attach 
finished front. 

BACK

BACK

1
1

17

1
1

17

OUTSIDE BACK

1

2

3

DRILL BIT 
Futura:
ø 7x10 mm (9/32”) 
F70:
ø 6x10 mm (1/4”) 

DRILLING TEMPLATE
Futura: A199800755010
F70: ASGD704UGXA 

35



36



Assembly Features

37



Back

5 mm DOWEL ATTACHMENT, 
for use with knock-in tool 
listed in accessories

SCREW ATTACHMENT, 
use a #2 Pozi driver.
Screws ø 3.5 x 20 mm included.
Can use #6 x 3/4” screws as 
a replacement.

2-Sided Drawer - H 75 - H 101 - Assembly features

38



Sub-front

5 mm DOWEL ATTACHMENT, 
for use with knock-in tool 
listed in accessories

SCREW ATTACHMENT, 
use a #2 Pozi driver.
Screws ø 3.5 x 20 mm included.
Can use #6 x 3/4” screws as 
a replacement.

39



2-Sided Drawer - H 178 - Assembly features
Back

5 mm DOWEL ATTACHMENT, 
for use with knock-in tool 
listed in accessories

SCREW ATTACHMENT, 
use a #2 Pozi driver.
Screws ø 3.5 x 20 mm included.
Can use #6 x 3/4” screws as 
a replacement.

40



Sub-front

5 mm DOWEL ATTACHMENT, 
for use with knock-in tool 
listed in accessories

SCREW ATTACHMENT, 
use a #2 Pozi driver.
Screws ø 3.5 x 20 mm included.
Can use #6 x 3/4” screws as 
a replacement.

41



2-Sided Drawer - H 237 - Assembly features
Back

5 mm DOWEL ATTACHMENT, 
for use with knock-in tool 
listed in accessories

SCREW ATTACHMENT, 
use a #2 Pozi driver.
Screws ø 3.5 x 20 mm included.
Can use #6 x 3/4”” screws as 
a replacement.

42



Sub-front

5 mm DOWEL ATTACHMENT, 
for use with knock-in tool 
listed in accessories

SCREW ATTACHMENT, 
use a #2 Pozi driver.
Screws ø 3.5 x 20 mm included.
Can use #6 x 3/4” screws as 
a replacement.

43



44



3-Meter Profile to be Cut

45



3-Meter Profile to be Cut - Part numbers and packaging
Side and back profiles - 3-Meter lengths (118”)

SIDE PROFILE WHITE GRAY STAINLESS STEEL BOX PALLET

Side profile H 75 mm AMUBXX13000 AMUBXXG3000 AMUBXXS3000 5 pcs. 100 pcs.

Side profile H 101 mm AMUMXX13000 AMUMXXG3000 AMUMXXS3000 5 pcs. 100 pcs.

Side profile H 178 mm AMUAXX13000 AMUAXXG3000 AMUAXXS3000 5 pcs. 80 pcs.

Side profile H 237 mm AMUHXX13000 AMUHXXG3000 AMUHXXS3000 5 pcs. 80 pcs.

Note: 3-Meter profiles that can be cut to size by the customer are available separately. Please consult your local Salice Sales Representative or 
contact our Customer Service Dept for more information on custom 2 or 3 sided metal drawers.

COMPONENTS PART NUMBER BOX PALLET

AMGPXA3 200 pcs. 8000 pcs.

Cutting the width for the sub-front and the back

Bottom length = 

Runner length - 32 mm (1-17/64”)

Cutting the length and width for the bottom

(X - 19) ± 1 mm = Futura

(X - 20) ± 1 mm = F70

(X - 19) ± 1 mm = Futura

(X - 20) ± 1 mm = F70

ASMGP12A3XA 200 pcs. 8000 pcs.

ASMGP12A3CA 200 pcs. 8000 pcs.

FIXING CLIP FOR 
WOOD FRONT AND BACK

Screw attachment.
Screws ø 3.5 x 20 mm included.
Can use #6 x 3/4” screws 
as a replacement.

INTERNAL CONNECTOR

To be installed with AMDGXAO template.
See accessories, page 50.

FIXING CLIP FOR 
WOOD FRONT AND BACK
  
5 mm dowel attachment.
Must be knocked in with 
TLLNCLPHLDR Salice tool, 
see accessories, page 50.  

ø 5x12 ø 2x2

ø 5x12 ø 2x2

46



20.2

20.2

8

2
4

2
4

9
1

.5
2

4

2
2

3

8

1
6
4

2
4

7
6
.5

2
4

20.2

8
7

4
4

2
4

8

6
1

8

1
8

2
4

BACK - Finished height & drilling dimensions

AMUBX

AMUMX

AMUAX

AMUHX

INSIDE BACK

1
1

19

1
1

17

DRILL BIT 
Futura:
ø 7x10 mm (9/32”) 
F70:
ø 6x10 mm (1/4”) 

OUTSIDE BACK
DRILLING TEMPLATE
Futura: A199800755010
F70: ASGD704UGXA 

20.2

20.2

8

2
4

2
4

9
1

.5
2

4

2
2

3

8

1
6
4

2
4

7
6
.5

2
4

20.2

8
7

4
4

2
4

8

6
1

8

1
8

2
4

1
1

19

1
1

17

INSIDE BACK

DRILL BIT 
Futura:
ø 7x10 mm (9/32”) 
F70:
ø 6x10 mm (1/4”) 

OUTSIDE BACK
DRILLING TEMPLATE
Futura: A199800755010
F70: ASGD704UGXA 

20.2

20.2

8

2
4

2
4

9
1

.5
2

4

2
2

3
8

1
6
4

2
4

7
6
.5

2
4

20.2

8
7

4
4

2
4

8

6
1

8

1
8

2
4

INSIDE BACK

1
1

19

1
1

17

DRILL BIT 
Futura:
ø 7x10 mm (9/32”) 
F70:
ø 6x10 mm (1/4”) 

OUTSIDE BACK
DRILLING TEMPLATE
Futura: A199800755010
F70: ASGD704UGXA 

INSIDE BACK

20.2

20.2

8

2
4

2
4

9
1

.5
2

4

2
2

3

8

1
6
4

2
4

7
6
.5

2
4

20.2

8
7

4
4

2
4

8

6
1

8
1
8

2
4

INSIDE BACK

1
1

19

1
1

17

DRILL BIT 
Futura:
ø 7x10 mm (9/32”) 
F70:
ø 6x10 mm (1/4”) 

OUTSIDE BACK DRILLING TEMPLATE
Futura: A199800755010
F70: ASGD704UGXA 

47



48



Accessories

49



Accessories
ASCCX83H9SN
Cover cap with embossed Salice logo. 
It can be personalized on request.
PACKAGING 1 box = 5000 pcs. 

ASCXX83H9SN
Cover cap with silk-screen printed Salice logo. 
It can be personalized on request.
PACKAGING 1 box = 5000 pcs. 

AMDGXAO
Template for frontal connecting fitting. Only for use to 
insert the connector for the 3 meter cut to size lengths.    
PACKAGING 1 box = 1 pc.  

TLLNCLPHLDR
Insertion tool (Knock-In) for ASMGP12A3CA fixing clip for 
wood front and back 
PACKAGING 1 box = 1 pc.  

A199800755010 Template for Futura runners
PACKAGING 1 box = 1 pc.   

TSC07MM Stop collar
to set the correct depth
PACKAGING 1 box = 1 pc.   

TDB7407R ø 7 mm, for Futura runners
TDB7406R ø 6 mm, for F70 runners
Drill bit for rear hook
PACKAGING 1 box = 1 pc.   

TLKEY332 L wrench to set and adjust
PACKAGING 1 box = 1 pc.   

ASGD704UGXA Template for F70 runners
PACKAGING 1 box = 1 pc.   

50



Finishes

White
COLOR CODE = 1

Gray
COLOR CODE = G

Stainless steel
COLOR CODE = S

51



SALICE AMERICA INC. 
2123 CROWN CENTRE DRIVE 

CHARLOTTE NC. 28227 
TEL. 704 841 7810 
FAX. 704 841 7808 

info.salice@saliceamerica.com 
www.saliceamerica.com

D
0

C
AS

AA
2

0
U

S
A 

- E
d 

0
3

 - 
0

9
/2

0
2

3

Digital contents

We reserve the right to change technical specifications.


